1.4 Questions

Q1.
 
Discuss what a small business owner should consider when deciding upon the location for their business.
(6)
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(Total for question = 6 marks)
 


Q2.
 
Read the following extract carefully and then answer the question.
[image: ]
In 2012 Jerry and Shelley Lawson started a new business – Frog Bikes. The aim was to produce lightweight and affordable children's bikes. The company's bikes were designed for children using the latest technology. The bikes are produced in a Chinese factory and sold in the UK and other countries.
The business quickly became successful. By 2016 its bikes were sold in over 700 shops in the UK. It faces competitors such as JE James which sell similar bikes in the UK.
Frog Bikes uses social media to promote its bikes. Figure 2 shows a competition run on the Frog Bikes Twitter account. To enter the competition people needed to follow the business on Twitter.
As a manufacturer and retailer, Frog Bikes has to comply with a large amount of legislation. All bikes meet ISO (International Standards Office) standards. This ensures they are safe for children. Rules include the need for all bikes to be fitted with a chain guard, and for handlebars to be safety checked.
In 2016 Jerry and Shelley decided to increase production to meet the growing demand. They considered expanding the company's Chinese factory, or building a new factory in the UK.
[image: ]
(Source: adapted from http://startups.co.uk/startups-100/2016/8-frog-bikes/)
Frog Bikes is considering two options to produce more bikes:
Option 1: Build a new factory in the UK.
Option 2: Expand production at the existing Chinese factory.
Justify which one of these two options Frog Bikes should choose.
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(Total for question = 9 marks)
 


Q3.
 
Explain one reason why an entrepreneur would produce a business plan.
(3)
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 ............................................................................................................................................. 
 ............................................................................................................................................. 
 
(Total for question = 3 marks)
 


Q4.
 
Look at Figures 1 and 2, read the extract carefully, then answer the question.
Outline one method of promotion that would be appropriate for Meringue.
(2)
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 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 
(Total for question = 2 marks)
 


Q5.
 
Read the following extract carefully and then answer the question.
[image: ]
Zoe Sugg, known to her fans as Zoella, is an entrepreneur and a star of YouTube. She has enjoyed success with her fashion and lifestyle vlog (video log) and has become a celebrity as well as an entrepreneur. After starting her lifestyle blog, 'Zoella', in 2009, she soon had thousands of followers. Zoe extended the blog to a YouTube channel and by 2015 had 7.5 million subscribers.
[image: ]
In September 2014 Zoe launched her own brand bath and beauty range, called Zoella Beauty. The brand logo is shown in Figure 2. Zoella Beauty products are stocked by major retailers, including Superdrug and Boots. The business also uses e-commerce to sell its product range.
In 2014 Zoella Beauty earned revenue of £400 000. However, the competitive environment for beauty products aimed at younger females is becoming more crowded. Rivals include retailers such as Lush.
(Source: adapted from http://startups.co.uk/young-entrepreneurs-zoe-sugg-zoella/)
Zoella Beauty is considering two options to develop the marketing mix of its beauty product line:
Option 1: Increase promotion of the brand.
Option 2: Reduce prices to compete with rival products.
Justify which one of these two options Zoella Beauty should choose.
(9)
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(Total for question = 9 marks)
 


Q6.
 
Explain one disadvantage to a sole trader of having unlimited liability.
(3)
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 ............................................................................................................................................. 
 
(Total for question = 3 marks)
 


Q7.
 
Look at Figures 4, 5 and 6, read the extract carefully, then answer the question.
Sally is considering whether or not to buy a franchise to start up on her own.
Justify whether or not Sally should buy a franchise.
(9)
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(Total for question = 9 marks)
 


Q8.
 
Answer the question with a cross in a box [image: ]. If you change your mind about an answer, put a line through the box [image: ] and then mark your new answer with a cross [image: ].
Which one of the following statements about a franchise is correct?
Select one answer.
[image: ]   A    A franchisee makes all their own decisions
[image: ]   B    The franchisor pays the franchisee to set up in business
[image: ]   C    The franchisor provides continued help and support
[image: ]   D    Franchises pay lower Value Added Tax than sole traders
 
(Total for question = 1 mark)
 


Q9.
 
Answer the question with a cross in the box you think is correct [image: ]. If you change your mind about an answer, put a line through the box [image: ] and then mark your new answer with a cross [image: ].
Which two of the following are advantages for an entrepreneur of starting a business as a sole trader?
Select two answers.
[image: ]   A    Limited liability means losses can be minimised
[image: ]   B    Owner has control of decision making
[image: ]   C    Break even level of output will be higher
[image: ]   D    Less risky than other types of business structure
[image: ]   E    Any profits can be kept by the owner
 
(Total for question = 2 marks)
 


Q10.
 
Explain one benefit to an entrepreneur of starting a business as a private limited company.
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 ............................................................................................................................................. 
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 ............................................................................................................................................. 
 
(Total for question = 3 marks)
 


Q11.
 
Answer the question with a cross in the box you think is correct [image: ]. If you change your mind about an answer, put a line through the box [image: ] and then mark your new answer with a cross [image: ].
Which one of the following is a benefit of starting a business as a franchise?
Select one answer.
[image: ]   A    Lower variable costs
[image: ]   B    Support from the franchisor
[image: ]   C    Higher interest rates for borrowing
[image: ]   D    Franchisees pay lower tax
 
(Total for question = 1 mark)
 


Q12.
 
Discuss the impact on a business of having limited liability.
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(Total for question = 6 marks)
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Question Indicative content Mark
number
+ Proximity to market (AO1b). (6)
« The amount of competition in the area (AO1b). AO1b=3
AO3a:

« This increases the likelihood of being visible to potential
customers so the business can attract more passing trade
(AO03a).

« This might impact on the pricing strategy of the business
as they may have to charge lower prices to be competitive
(AO3a).
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Level

Descriptor

No rewardable material.

Level 1

Demonstrates elements of knowledge and understanding of
business concepts and issues, with limited business
terminology used (AO1b).

Attempts to deconstruct business information and/or
issues, finding limited connections between points (AO3a).

Level 2

Demonstrates mostly accurate knowledge and
understanding of business concepts and issues, including
appropriate use of business terminology in places (AO1b).
Deconstructs business information and/or issues, finding
interconnected points with chains of reasoning, although
there may be some logical inconsistencies (AO3a).

Level 3

Demonstrates accurate knowledge and understanding of
business concepts and issues throughout, including
appropriate use of business terminology (AO1b).
Deconstructs business information and/or issues, finding
detailed interconnected points with logical chains of
reasoning (AO3a).
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Question
number

Indicative content

« Building a new factory in the UK will mean lower transport
costs (AD2).

« Expanding the Chinese factory is sensible as this factory
already has the employees with the skills and expertise in
manufacturing the business’ bikes (A02).

«  This means that overall costs can be kept down so that Frog
Bikes can charge prices which are competitive against rivals
such as Halfords and JE James (AO3a).

«  This expertise means that bikes can be produced more cheaply
than in a UK factory, even when transportation costs from
China are taken into account (AO3a).

« The most appropriate option for Frog Bikes is to build the UK
factory. In addition to the costs benefit, the reputational
benefit it will gain will help to give a competitive advantage
over other retailers such as Halfords (AO3b).

« The best option is to stick with the Chinese factory. The
business is doing well and is becoming more successful, so
this factory, and its staff, are getting things right. Shifting to
the UK could be expensive as well as destabilising (AO3b).
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Level Mark Descriptor
[ No rewardable material.

Level 1 13 « Limited application of knowledge and understanding of business
concepts and issues to the business context (A02).

« Attempts to deconstruct business information and/or issues,
finding limited connections between points (AO3a).

« Makes a judgement, providing a simple justification based on
limited evaluation of business information and issues relevant to
the choice made (AO3b).

Level 2 26 + Sound application of knowledge and understanding of business.
concepts and issues to the business context although there may
be some inconsistencies (AO2).

+ Deconstructs business information and/or issues, finding
interconnected points with chains of reasoning, although there
may be some logical inconsistencies (A03a).

« Makes a judgement, providing a justification based on sound
evaluation of business information and issues relevant to the
choice made (AO3b).

Level 3 7-9 + Detailed application of knowledge and understanding of

business concepts and issues to the business context
throughout (AO2).

Deconstructs business information and/or issues, finding
detailed interconnected points with logical chains of reasoning
(AO3a).

Makes a judgement, providing a clear justification based on a
thorough evaluation of business information and issues relevant
to the choice made (AO3b).





image12.jpeg
Question
number

Answer

Mark

Award 1 mark for identification of a reason, plus 2 further marks
for explaining this reason, up to a total of 3 marks.

To provide information for the bank when applying for a loan (1).
The bank will be able to see important information about how the
business will operate (1), and can therefore make a judgement
about the ability of the business to repay the loan (1).

To enable the entrepreneur to collect information about the
business to plan ahead (1). Projections of sales and costs help the
entrepreneur to make decisions about buying stock (1) so that the
business can meet customer needs (1).

Accept any other appropriate response. Answers that list more
than one reason with no explanation will be awarded a maximum
of 1 mark.

3)
AO1a:
A01
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Question
number

Answer

Mark

Award up to 2 marks for linked points outlining a suitable method
of promotion for Meringue. Award a maximum of 1 mark if points
are not linked.

By offering free food samples to passers-by (1) potential
customers can taste the high quality ingredients (1).

Meringue can print a voucher offering a discount in a local
newspaper (1) to encourage customers to come in on
quieter days (1).

Do not accept methods of promotion that would not be
appropriate for a small town centre bakery and cafe such as
Meringue, for example a national TV advertising campaign.

)
A02
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Question
number

Indicative content

« Increased promotion will increase the awareness of the brand
(A02).

« Reducing prices will mean Zoella Beaty is more compeitive
against rivals such as Lush (A02).

« This means that young people will recognise the brand and be
more prepared to try the beauty products ahead of those of
rival companies (AO3a).

« This means that younger people, who may not have high
incomes, will be encouraged to choose Zoella Beauty over rivals
such as Lush (A03a).

« The most appropriate option for Zoella Beauty is to promote
the brand. This is because the beauty products industry is
driven by style and fashion and to maintain the fashionable
image promotion is essential. Otherwise the brand risks
becoming dated (AO3b).

« However, reducing prices will lower profit margins and also
threaten brand image. Zoella Beauty has a strong brand image
and this is enhanced by the Zoella viog, which has over 7
million subscribers. If there were cheaper prices, the target
market may think the quality of the product is low (A03b).
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Level Mark Descriptor
[ No rewardable material.

Level 1 1-3 « Limited application of knowledge and understanding of business
concepts and issues to the business context (A02).

«  Attempts to deconstruct business information and/or issues,
finding limited connections between points (AO3a).

« Makes a judgement, providing a simple justification based on
limited evaluation of business information and issues relevant to
the choice made (AO3b).

Level 2 46 + Sound application of knowledge and understanding of business
concepts and issues to the business context although there may
be some inconsistencies (AO2).

«  Deconstructs business information and/or issues, finding
interconnected points with chains of reasoning, although there
may be some logical inconsistencies (AO3a).

«  Makes a judgement, providing a justification based on sound
evaluation of business information and issues relevant to the
choice made (AO3b).

Level 3 79 + Detailed application of knowledge and understanding of

business concepts and issues to the business context
throughout (A02).

«  Deconstructs business information and/or issues, finding
detailed interconnected points with logical chains of reasoning
(AO3a).

«  Makes a judgement, providing a clear justification based on a
thorough evaluation of business information and issues relevant
to the choice made (AO3b).
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Question
number

Answer

Mark

‘Award 1 mark for identification of a disadvantage, plus 2 further
marks for explaining this disadvantage up to a total of 3 marks.

Unlimited liability will increase the personal financial risks (1) for a
sole trader. This is because they become responsible for all losses
made by the business (1), which could result in them having to
sell personal assets to pay any losses (1).

The sole trader could lose personal possessions (1). As there is no
distinction between the business and the individual (1), losses
made by the business have to be paid by the individual (1).

Accept any other appropriate response. Answers that list more
than one disadvantage with no explanation will be awarded a
maximum of 1 mark.

3)
AO1a:
AO1b=2
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Question Indicative content Mark
number
+ Sally has saved enough money to start her business and ©)
Justify can therefore afford the costs associated with a franchise. AO02=3
(A02). AO3a=3
« Starting up on her own without buying a franchise will AO3b

give Sally more freedom. She has her own ideas for
differentiating her service, for example by the use of
social media, and a franchise may not allow her to pursue
some or all of them (A02).

«  Becoming a franchisee means she could benefit from the
established name that comes with taking out a franchise
and will not have to spend time and money establishing
her own name. There are established competitors in the
market and a franchise name may help (AO3a).

« If the franchise does not allow Sally to implement some of
her ideas to target a younger target market, her service
may not be differentiated from rival personal trainers,
such as ‘Vitality’ (AO3a).

« Establishing a new business, especially in a market where
competition exists, requires strong brand recognition.
sally is likely to get this from a franchise in a way that she
is unlikely to gain by herself. Despite the costs involved,
this appears to be the most suitable option for Sally at this
time, especially given the worsening economic climate,
which will only add to the uncertainty in this market
(AO3b).

« Starting up on her own without buying a franchise appears
to be the best option for Sally. Although the franchise
option would provide reassurance of an established name,
the market she is entering does not have much
competition (just two rivals). Her ideas for differentiating
her business will undoubtedly help her to stand out in a
fairly small but growing market. Freedom is more
important than brand name at this stage (AO3b).
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Level

Mark

Descriptor

No rewardable material.

Level 1

1-3

Limited application of knowledge and understanding of
business concepts and issues to the business context
(A02).

Attempts to deconstruct business information and/or
issues, finding limited connections between points (AO3a).
Makes a judgement, providing a simple justification based
on limited evaluation of business information and issues
relevant to the choice made (AO3b).

Level 2

Sound application of knowledge and understanding of
business concepts and issues to the business context
although there may be some inconsistencies (A02).
Deconstructs business information and/or issues, finding
interconnected points with chains of reasoning, although
there may be some logical inconsistencies (AO3a).
Makes a judgement, providing a justification based on
sound evaluation of business information and issues
relevant to the choice made (AO3b).

Level 3

Detailed application of knowledge and understanding of
business concepts and issues to the business context
throughout (A02).

Deconstructs business information andjor issues, finding
detailed interconnected points with logical chains of
reasoning (AO3a).

Makes a judgement, providing a clear justification based on
a thorough evaluation of business information and issues
relevant to the choice made (AO3b).
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C

1)
AOla
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AO1la
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Question | Answer Mark
number
‘Award 1 mark for identification of a benefit, plus 2 further marks | (3)
for explaining this benefit up to a total of 3 marks. A01a=1
AO1D:

One benefit is financial security for the entrepreneur (1) because
limited liability means that their personal possessions cannot be
lost were the business to become insolvent (1). As a result, the
entrepreneur will be willing to take risks to attempt to grow the
business (1).

One benefit is the ability to raise finance by selling shares (1)
which means the business may be able to invest in its facilities
(1). As a result of this the business will be able to expand further
and increase sales (1).

Accept any other appropriate response. Answers that list more
than one benefit with no explanation will be awarded a maximum
of 1 mark.
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B

(1)
AOla
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Question
number

Indicative content

«  Less risk of owners losing personal possessions (AO1b).
« Shareholders are more likely to invest in a new business idea
(AO1b).

« This increases the attractiveness of the investment and as a
result, encourages enterprise and entrepreneurship (A03a).
« This increases the likelihood of taking risks. This increases the.

potential for the growth of the businesses into a larger
company (AO3a).

Level

Mark

Descriptor

0

No rewardable material.

Level 1

1-2

Demonstrates elements of knowledge and understanding of
business concepts and issues, with limited business terminology
used (AO1b).

Attempts to deconstruct business information and/or issues,
finding limited connections between points (AO3a).

Level 2

3-4

Demonstrates mostly accurate knowledge and understanding of
business concepts and issues, including appropriate use of
business terminology in places (AO1b)

Deconstructs business information and/or issues, finding
interconnected points with chains of reasoning, although there
may be some logical inconsistencies (AO3a).

Level 3

5-6

Demonstrates accurate knowledge and understanding of
business concepts and issues throughout, including appropriate
use of business terminology (AO1b).

Deconstructs business information and/or issues, finding
detailed interconnected points with logical chains of reasoning
(AO3a).
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